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§1. HU

YRAZE n . WMEXE A, T EREHRAE r MR EREH R R % D #ATAR,
BrRERG T R R A R SEbR R 3. X A S50 B/ M B R B B L2 5 Bl @
M REER. F T M R G B R EIRERE, W INRLER, SREJERE (R
h) . SEIEEARA R (BRKH n) MHBCLIREER, FXHAR © 5 R f Rl AR
HIBRE = M R B L. ERILH ¥ MR G5 TE T BIR R EIR DB, WGP, 6
BARESTE] (KB h) o WA HEARZ L (/DR n) SBCRIREER, REZMERR T M1 R S0 51
TERASEREEHIRY 7 i1 R E L. FEAEESHWEKS R B—k, 4—1 73 R GK%TE
z [FE R R EERIE, CVP 2-R Bk H{ES.

§2.  CVP z Ml R i E Y it

WIRERE X IRINIES A N(p,0?), BRI F-EEMIREEERT BME (v = po Al
o =oo) BHFIG, TERORFE—FENLICTE], FHEMN o 2B = po + 000, § > 0, FRHEZN oo 28
2 o =gop (g>1).

X RPN E, EERE ho NETEENLIE B no BREAS, T no =5. X T &, HHIRA
o £rocmao/ /Mo, IEAE o £cooo; X R &, RFEEH LR, LRSS E(R)+roor = (d2+10b2)00, 18
YE Dooo, H ¢ o do Fil bo [RIREAZR B n A2 Pl W RIS SRR A, B LAY SRR 4 R il R A
PR, PR AL T D EMERIR 2 B T B HOEA wo, EHRIRHK po £ricmoo/ /i, ILAE
po £cio0, BRBR K po £ riemoo//mi, IBVE po £ cjoo. R BIRIESH] LBR K (do+ribo)oo, 1IE1E Dioy,
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e ERR K (do+75b2)oo, IEHE Dioo, i = 1,2. AT FfE, \PESRITE V = (T—po)y/ni/ (cmoo) i
EE L, F VBRI R AR TR S 8 £r B £r), XH ¢ > c0 > 03, ¢ > ¢y, Dy > Dy,
Dy < Dy. # T 5 R {EEELRI, WHEHREAERENEXERE (M < h) fBOKHES
(n2 > no). & T M RAAFEACE, MEREREEKEEXEE (he > ho) HHEBUMEAR
(n1 < no).

AT R — A EERAMMER, B—EEA KA, FTRAWMZIEZS 2 BN R E, mE 2
i

TEIS TR NI FF 45 58 Oh 4% LA S Dot BRI 88— DR AR 2 i R I AILBL 2 1) . FE 2 1A, B
AREAUIEE MR, UG/ DMERIBEERR po, BUS KRR (1 —po), po B Tk
B

po =P([V| <r}||V] <ri)P(R/oo < Dj|R/oq < D;), i=1,2. (1)

ATHEITE, W& ri . v Dp M Dy, MAEZFEHAR B FIREAR s A T Pl e i i T A
OBl (BRI B SRIERRT 7 F1 R EIZAHA R, JRE

P(IV| < ri|IV] < r;) = P(R/oo < Dj|R/ag < D), i=1,2. (2)

§3.  CVP z Ml R ¥l B & 155 89-F2 0t 8]

P [ PR AR AR AL 8 BE o A 5 S WP TR) (ATS) BB IE- P2 R TE] (AATS) SREH .
YL TR I BT BARE (u = B o = o1) BRI ATS. JeRt, ATS B BITHEE 7 5
R ERAGSH T . 4B p=po M o =00 JFU, ERRFE—FEPLRKFZEE 11 B 01
IR AATS, AATS BB ERE 7 8 R EZfEFH-F-HHE .

TEFESL CVP 2-R [FHg ATS fl AATS ByR7RKES, W% E = M R B Ei&E RN 2
R AL E S E K = AFE 5

(1) &5 LGP REREAE DI

(2) HEOFES: HPED—RVEEEHE (EBA — e );

(3) ALefFS: HopED—A SIEEERIE.

Wi, ATS REZELAG[FTHFHE, AATS REFELG[ESHBIET-H0HE.

CVP z-R [EHy ATS, T8 P HEARNAER. U5 R/MERR, K ATS ZHRL
GRS EESE M, My ZEASH (1 - p1) BJUEISA, B p 2O RHSHETE
SREATAE R IR OGS AR, TR

oS} .
P1=pi1 + D12 Y Dby Poi-
i=1

X H

P(IV| < riln1,0,9)P(R/oo < Dilni, g),
P(ri <|V| < ri|n1,6,9)P(R/oo < Di|ni,g)
+P(|V| < riln1,0,9)P(D} < R/oo < Di|ny,g),

P11

P12
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P2 = P(ry <|V] <rane,d, g)P(R/oo < Dsns, g)
+P(|V| < 13|n2,0,9)P(D3 < R/oo < Dalna, g),
p1 = P(|V] <ryne, d,9)P(R/oo < Djlna, g). (3)
A 1,

L 1-pe
1—p1 Q

E(M) =
XHE: Q=1-pu —po+pupe — prapa. M
PRI EER— M LEEROMIY. To= > Lo 28 L Y4 R E R
BT B (PSR I . L R, B
P(L; = he) =1 — p12,

P(L; = hy +ih1) = praphy (1 — p22), i=1,2,---

B,
E(L;) = ha(1 — p12) + 3. (ha 4+ ih1)praphy (1 — p2a) = ha + hy 1 P2
=1 — P22
B RAL R, T ATS 2 T\ pOBTA0E, T
E(T) = EQA)E(Ly) = L2l =Pt upiz (4)

Q
BE—DHEARKIEAR, R ATS EHBAAFSUNROAETE Mo, Mo ZEAESHL
(1—p2) WL, X pp JE B A ATE SR GRS 7 — T HEF SRR R, TR

oS} .
P2 = a2 + D21 Y Py pra-

i=1

Mo
M BHFGEEREE— L aESWeEh:. T, = Z)l 0;, i O; BYFIE S 2 HAMIFHEL
BfESERN B a G SMEEKE, O, 2M L Fam, BfA:
P(Oi = hl) =1-po,
P(O; = hy + ih2) = porpiy (1 = p11), 1=1,2,---

A,
D21

1—pi
R MR R RKEEA, N ATS & To (HAEE, XH.:

_ hi(1 —p11) + hopar
Q

45— A By BB K po, BRI (1 — po), ATS i FR &t

ATS = E(Tl)p() + E(Tg)(l —po).

E(O;) = hy + hs

E(T») = E(M2)E(0)



152 KR A 40 $-+=%

RS AATS RARR, % A =T EENXERE, R =380 EHIREEARIE,
S = BB E NHIREARERLALAGF SR, T=dB8EEA6GE 50T, @mE 1
. B co” BREAE. WNEIFEH, T=R+S, EHH, AATS 4:

E(T) = E(R) + E(S). (6)

R4 Reynolds et al. {773k 1, 52 R 22 [8] i IX 5] P9 2 A8 A g 36 5592 K i g B A
PR E X AR AR 2 B ] . R,

(1 —po)hy
poha + (1 —po)hy’

poha
poha + (1 —po)hi’

o, W AR R A 2 RIS EH ] R AR 535040, BT,
h;
3,

P(A=hy) = P(A=h) =

E(R|A = h;) = i=1,2.

Pl E=5, B

E(R) = poh3 + (1 —po)h?
2[poha + (1 — po)h1]

S WPIEERB TR E R —MESHEE (B), RIG4HE (B = Bi) MEE (B = By) {51
AR G R A AR IX T BE A O

(7)

= pllp(A = hg) +p21P(A = hl), (8)
P(B = BQ) = plgp(A = h2) +p22P(A = hl) (9)

YEMEH—METREON, =T, HiZFSREACR, S=T. L,

E(S) = P(B = B1)E(T1) + P(B = By)E(T3). (10)
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§4. CVP z M R #=HIERYEIT
VPRI IERS S N (,0%), 2 n = 25+ LI, SOk (5] £ i oo 32 (E009 S A B 80

. B((2—p)/o) 1
= P T = —_—
(z) =P(E <) /0 B(s+1,s+1)

t5(1 — t)*dt. (11)
A @() BAFEIES TR, AR EA TR VIESATRE, 1C1F To(s + 1,5 + 1) B
Iy, HIMAIRTTA

K%—‘ﬁi'lﬁ, E: Mo = 07 0o = 17 j:i:/?"\ c= rcm/\/ﬁ, d = rlcm/\/”_l- % n = 37 57 77 9 H¢7
em = 1.160, 1.198, 1.212, 1.2238, 1T I, _,(a,b) =1 — L,.(b,a), i (11) X5

P([V|<r)=P(#| <c)=P@E < ¢)—P(E < —c) = 2P(F < ¢) — 1.

XH Pz <ec)= I<I>(c)-
CVP Z-R B/ 12 DSB8 (n1,n2) « (hi,ha) o (P, 7h) « (ri,r2) o« (D), DY) F1 (Dy, Dy)
FIARYE T 51 R i ke e g -

ni1po + n2(1 — po) = no, hapo + hi(1 = po) = ho, (12)
ai1(2 —a1)po + 2(2 —a2)(1 — po) = ao(2 — ). (13)

X H.
o; = P(|V| > Ti) = P(R/Uo > D,), 1=0,1,2. (].4)

K no, ho, mo Ml Do ZHHM z-R EIMSE. BRH (12) A1 (13) IERHBEEE (CFSSI
CVP [&) i Ok ELAAMIR . J7 2 (12) 71 (13) BRI 8 SEFR TARZ R EE I B (n1,n2)
(b1, ha) B (r1,m2) FH—A, BT NFIRBRT HFIEE—ATCE. &XF (r],rh) . (D], Dh) F (D1, Do)
MR (1) . (2) . (12) F1 (14) KRB . HEFLEE X (n1,n2) MIEE by F e, BFDHHEH:

(1) ng 1 by AB AR/ MR T Filt B A4 7 it PO B2 5K A e [ 5

(2) #E# CVP B2 R PSR E/ M L . 280 B/ NeY, BR r 7850 KE S Oh 4R
B i SE2BR B .

o (12) AP eg 1 0 (14) K

po= 2" 4 =P(V|>r) =21 -PE<c)], i=0,12

)
ny —ni

RN (13) K, 155

P(f< 02)
s %)'25 L (na=mo)[1 =P < )P < c;) :1(:2 —m)lL-PE <P <) 1
i (14) X
P(R/Uo < Dz) =1- P(R/O’o > Dz) = ZP(f < Ci) -1, 1=1,2, (].6)
PE<c)—1

PIVI<riVi<r) = gpGa=e)—1
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MR (1) . )M (12) FE 1K, §

2P(x <cj) — 1712 [P(R/oo <Dj)12  na—mno
2P(Z < ¢;) — 1} B [P(R/Uo < Dl)] P
it
P(F <) = 0.5+ P& < C%V B2l =12, (17)
P(R/oy < D)) = P(R/UO\/% Vl’” — =1, (18)
m (12) XL 2 X, 5
hy = ho(n2 —n1) — hi(ng — 711)‘ (19)

nNo — No

§5. CVP K6 CFSSI fit CVSSI Klfy L&

HELCVP ERY & B2 32 1 H -5 8 $0 A — 30, 3E0] R B 1R Blad AR AR o . %o
CVPZ R, MEh =01, hy=1.9,145, n1 =3, n, =7,9. hy l (19) RE. XHEH 7 RE
(CFSSI &), #15E ho = 1, 70 = 3, no = 5, Dy = 4.92. ¥ ng = 5 B, o = ro x 1.198//5 = 1.6073,
M P(V| < 1) = 2P < o) — 1 = 0.9970, P(Z < co) = 0.9985. HL ry = 5, 2% ny = 3 A,
¢ = (5 x 1.16)/v/3 = 3.3486, P(Z < ¢1) = 0.99988.

Moy =3, ny =70, B (15) &, B PF < cz) = 0.997008, 24 ny = 7 BF, ¢y = 1.2683,
r=2.7687. 1 (17) &, 15 P(Z < ¢}) = 0.853545, %4 ny = 3H}, ¢ = 0.7026; P(Z < c}) = 0.851437,
Moy =7 B, e = 0.4775.

B (16) &, M ny =3B, D =6.138, % ny = 7B, D, =5.087, i1 (18) &, D} =2.115,
D}, = 3.107.

Mng =3, ny=9, hy =0.1, he = 1.45 B}, FEIRERLITTHETS 1, e, ¢, ¢, D1, Dy, D} fl
Di fH. 3 1 51H CVP fil CVSSI EIR 2 A5 (KL Ay Rl Ay 32R%) BISHUE.

F1 CVP fi1 CVSSI 2-R FE &5

P
HE= hi| hy [ni|na|ri| 7 ¢ o ) ¢y | Dy | Dy | D} | D}
CVP(4,) [0.1] 19 | 3 5 12771335(1.27(0.70| 048 | 6.14 | 5.09 | 2.12 | 3.11
CVP(4y) [0.1]1.45] 3 51262]335(1.07|0.89]|0.53]|6.14 | 5.12 | 2.49 | 3.66
CVSSI(4,) [0.1] 1.9 | 3 3 3 |1.61]1.61|0.56]|0.56|5.09]|5.09]|2.75|2.75
CVSSI(4y) [0.1]1.45] 3 3 3 |1.61]1.61]0.71|0.71|5.09 | 5.09 | 3.09 | 3.09

B CVP 7-R Ef AATS fH.
W é=0.5,g=125 2% n =30,

O |I N[O |

P(IV] <71) = Is((3.3486—0.5)/1.25) — Lo ((=3.3486—0.5)/1.25) = 0.9996, P(|V| < r}) = 0.5209,

R 6138\ _ (R 2115\
S <Sr) =00085,  P(Rfoo < D) =P(2 < Z2) =057,

P(R/oy < Dy) = P( s
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Wy = THE, P(|V| < r2)=0.9090, P(|V| < %) =0.4401, P(R/oo < D5)=0.93885, P(R/oo < D5)
= 0.4231. B EGERAN (3) R, 18 pir = 0.2837, p1a = 0.7144, pay = 0.6672, pa; = 0.1862.
B 4). (5). (7)~(10) =, #B Q =0.1054, E(T}) = 6.6770, E(T>) = 4.0361, E(R) = 0.905,
P(B = B,) = 0.2788, P(B = B,) = 0.7120, E(S) = 4.7352, ft A (6) &}, AATS = 5.6402.

Moy =3, =9, hy = 0.1, hy = 1.45 B, FEREALITIEE CVP 7-R [ AATS {8. 3£ 2
AR 6 Mg {3511 T CVP . CFSSI fl CVSST By AATS fH. W& 2 FHHi, 2 6=0
Mg =1m, =F# AATS EREITH . S T-HESIRHER B/ NEE (6 < 0.5, g < 1.50),
CVP [E[H CVSST Bl ge#ctht 4 thid Bk {55, #oFlf CVP ElfEdRm CVSSI B R .

%2 CVP, CFSSI il CVSSI z-R [E ] AATS {H

9 g

) HE 1 1.25 | 1.50 | 2 ) HE 1 | 1251150 2
CFSSI 166.4 | 19.93 | 5.89 | 1.68 CFSSI 7151429 | 2.68 | 1.29
CVP(A4;) | 167.7 | 11.03 | 2.93 | 1.35 CVP(A;) |2.56 | 206|162 1.22
0 | CVSSI(A;) | 157.8 | 12.53 | 3.11 [ 1.38 | 1 | CVSSI(A;) | 2.86 | 2.17 | 1.66 | 1.26
CVP(A,) | 168.4 | 10.68 | 2.74 | 1.18 CVP(4y) |2.21|1.84|1.44|1.05
CVSSI(A4,y) | 153.3 | 12.71 | 2.65 | 0.84 CVSSI(A4,) | 2.14 | 1.59 | 1.12 | 0.71
CFSSI 43.67 | 11.84 | 4.66 | 1.57 CFSSI 0.80 | 0.87 | 0.88 | 0.79
CVP(A;) |24.01| 5.64 | 2.38 | 1.31 CVP(A4;) | 1.04|1.07|1.08]| 1.06
0.5 | CVSSI(A;) | 30.22 | 6.37 | 248 |1.34| 2 | CVSSI(4;) | 1.08 | 1.10 | 1.12 | 1.10
CVP(A4,) |19.86| 5.19 | 2.18 | 1.14 CVP(A,) | 0.86 | 0.89 | 0.90 | 0.88
CVSSI(A4,y) | 28.44 | 5.93 | 1.97 | 0.80 CVSSI(A43) | 0.52 | 0.55 | 0.56 | 0.54

§6. CVP z—R =il E Ay Y

BRI L4 H 7S A B SRR E R BT, HIMRIERUESA 4 N(9.25,0.0157),
HAZEEEN 9.2 2 9.3 2K, KT Aifbits, HEIERTH AR EE 9. HIk, uo = 0.25,0 = 0.015.
1 R AR, no =5, ho = 30 (43). A T W R I REA R T-HEHE, WA CVP I-R
B, KA LAPE 2 DITE, WIS n 4 (3,9), h K (0.1,1.45). il RAEMIR R ¥0nL 1 B
. XHE: R, =01xho =34, hh =1.45x hg = 43.5 (4%). 24 pu M\ po ZBE 0.500 (6 = 0.5), o
M oo BBE 1.2500 (9 = 1.25) B, R FTREHBE R I, AL (BRI 22 42 ] B R A PR Yy 2R X
FFBRAEL T

INBEZR: o % e100 = 0.25 % 3.35 x 0.015 = 0.300, 0.200, Do = 6.14 x 0.015 = 0.092,

pio £ oo = 0.25 + 0.89 x 0.015 = 0.263, 0.237, D' o = 2.49 x 0.015 = 0.037;

FREA:  pio £ 209 = 0.25 + 1.07 x 0.015 = 0.266, 0.234, Doy = 5.12 x 0.015 = 0.077,

pio £ choo = 0.25 + 0.53 x 0.015 = 0.258, 0.242, D)o = 3.66 x 0.015 = 0.055.
FAWFZIE2H CVP B /MEARER 2 M R ESELHZENER L, KEEERK T M R
HLTER BRI ERHEE L. R /INEARR SR R AR S5 2, M A2 Th 2 BE i B,
WE 2. B ERARERR, TRARERE. £ e, 7eEatE 8:44 fhIER N 3 1Y
F—rEeA, 3 MMME WA 2 fr, mES T =0.244, R =0.038, #AHAE, T HATHO
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B, R ALTERE. TR PRI no =9, 7ERTE 8:47 FHBUEETY 9 HRHA . mEAH,
HrnZE, TATERE, RAITHOE, 13 n, =9, 18 8:50 MBOCHEA, HAlZlE,
AR RO EMRZI AT O, TR e = 3, 78 9:34 fBUMER . X EFFARSEEAT
HE P AL E SR 2 H PR R

=

.
0.300 _— _ * - lozes
- - .
0263 . * 0258
—_— T
L] L]
H
0237 v " —|0.242
0200 - -- * + - 0234
.
.
.
1 | |
g ERCT g:50 0:34
R R
0092 - - - i)
L ——— \/ 0055
1 1 1 B-J |51

K 2 CVP z-R A&
(cBREA3WT Ao RAL (B EAZNEF%R), @ B2 H 9 T v R (A LZ|EHE))

2 £ X ®

(1] sk4ess, XUER, FRREARRMAEX MBS PO EMRZEERE, A #F4%1, 20(1)(2004),
20-26.

[2] Costa, A.F.B., Joint T and R charts with variable parameters, IIE Transactions, 30(1998), 505-514.

3] Bkdesh, sitmBadlmibh BR, YLK MG, 1992,

[4] Reynolds, M.R., Amin, Jr.R.W., Arnold, J.C., Nachlas, J.A., T charts with variable sampling intervals,
Technometrics, 30(2)(1988), 181-192.

[6] ok4ets, WAERAZRAFEESRE, HAMsEL%LT, 16(3)(2000), 255-261.

Combine Median and Range Charts with Variable Parameters

ZHANG WEIMING ZONG YUNNAN L1U JIANBIN
(College of Science, Zhejiang Sci-Tech University, Hangzhou, 310018)

This paper extends previous studies for processes that are monitored by the combination of =
and R charts with variable parameters to include variable control limits based on the Costa method
of joint T and R charts with variable parameters. Calculating the average time to signal for the
combination of  and R charts under variable parameters. The proposed charts are compared with

the conventional charts, the variable sample size and sampling interval charts.





